MERCRLUISER [485 Gk BO2 Y-8 1990-1992) < POWER STEERIMG COMPOMENTS b w
Serial Mbr B ange: 0C843992 THRU OF 213244 ()
Ref |Clazs|Part Description Qt Comment Footnote
1 167524 1| PUMP ASSEMELY-Power Steering | 1
14 16 41877 STUD 1
2 36 95805 CaAP 1
3 TIE734 1) PULLEY [Black) 1
3 73673 3| PULLEY [Blue) 1
4 12 34567 '"WASHER [BERACE SLOT) 3
] 11 90517 |MUT 2
g 988134 1| BRACE 1
7 10 40001188 SCREW [M10 1.5 20] 1
a 13 40024 8| LOCKWASHER 1
| a7 B12427T |\ BELT (56" 1
10 32 92494 \HOSE [FITTINGS OMN BOTH EMDE|1
11 25 83879 O RING 1
12 32 98543 39/HOSE (FITTIMGS OW OME EMD) |1
13 32 5251914 |HOSE [Cut az Req'd] 1
14 54 18076 1|CLAMP 3
15 10 IVE1Z|SCREW [3/8-16 1 1-1/4") 1
15 10 47462 | SCREW [7/16-14 & 1-1/4") 1
16 933564 2| COOLER ASSEMBLY-0il-Power St 1
17 B3820 3|BRACKET [LONG) 1
18 AR328 1|BRACKET [SHORT) 1
19 10 496658 | SCREW [1/4-20 x 3/4") 2
20 13 26992 | LOCKMWASHER [1/4") 2
21 o} 248183|J CLIP-Power Steering Hose 1




